Year5 Week9 Dayl

Translate the point (3,7) 2 to the left and 3 down. Q
(%)

What are the coordinates of '°

the vertices of the rectangle?

(3H4) (3,8)
(5H) (5,8)

Draw an obtuse angle. Any angle over 90°

and less than 180°

Subtract 2,167 from 4,248 2,08




Year5 Week9 Day?2

Fill in the missing number-

2.5 kg =12,500| g

Reflect the shape in the mirror line.

Calculate the missing angle.

xo
158°
2°

Round 12,47| to the nearest hundred. 12,500




Complete the number sentence using <, > or =

8.2 km @ 820 m

A
0

What will the coordinates of the cross

be if it is reflected in the mirror line?

Work out the missing angle.

Work out 72 + 33




Year5 Week9 Day4

How many mm are the same as 0.6 m? 600 /—\

What will the coordinates of the

vertices be if the triangle is reflected :

in the mirror line?

What is the sum of the angles in a full turn?

Add 6,294 to 7,34l 13,635




Complete the number sentence using <, < or =

32,000 ml(>) 321

Describe the translation of shape A to shape B.

left and 2 up.

H spaces to the [

How many vertices does a pentagonal prism have?

What is the missing number? -296 =84l |,I37




